IGCSE — Matrices Paper 2&4 - 1

May 03 Paper2
4 acl g 5 _
a= (_3) andb = (—I)' Find 3a - 2b.
Answer ( ) 2]
May 03 Paper 2
. 5 42 1 -4
14 (a) Muliiply (“ 3 - 2)(0 5 . 6)'
Answer (a) ( ) [2] .
(b) Find thé inverse of (_; _;)
Answer (b) ( ) [2]
May 04 Paper4 11
22 A=(5 -8) B%(z 6) C=(4 6) 1)=( 4)
5 -4 5 -2 -2

(a) Which one of the following matrix calculations is nof possible?

(i) AB (i) AD (i) BA (iv) DA

Answer(a)

(b} Calculate BC.

Answer(b) BC = ( J 2]

(¢} Use your answer to part (b} to write down B, the inverse of B.

Answer(c) B = [ ] i




